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I. 2 mwn: parameters of validity for oTn
a.  Essential invalidity: stolen or withered
b.  Theoretical nonexistence: if coming from nVWR tree or NNTIN Y
c.  Local issues: if the top was cut off or the leaves fell off — invalid
d. Unique issue: if there are more berries than leaves — invalid
a. Fix: if he removes the berries and there are now more leaves — valid
b.  However: he may not remove them on 210 Dy
II.  xm1 outlining definition of may yy q1p: leaves cover branch (=oTn)
a. Challenge: perhaps it refers to an olive branch?
i. Rejection: requires may (“chain”)
b.  Challenge: perhaps it is a 2977 (plane-tree)
i. Rejection: requires leaves that cover tree
c.  Challenge: perhaps it refers to oleander
i. Rejection (»aN): per v. 2 — must be pleasant; X217 used v. 3 to reject on same grounds
II. xn»a defining ©7h — must be braided
a.  7aNT. My Yy 1y a tree that tastes like its fruit — 010
b. &7z if not may (“chained”), invalid —
i. Meaning of may (71 37): if 3 leaves come out from a single “nest”
ii. A&7 27 even if they grow out in twos and ones (student would deliberately seek that kind)
1. 9204 used to refer to that kind as nvw oTn (invalid)
IV. xna - if a majority of the leaves fall off, as long as it still has the “braid” (3) — valid
a. Note: there is an inherent inconsistency — if a majority are gone, less than 3 remain
i. Answer (»2ax): could be with Egyptian vTn, which has 7 leaves — if 4 fall out, still has 3
ii.  Observation: »1¥nn 010 is valid — even though it has a "M% nw (nuance-name)
1. Reason: may extends and allows multiple types
b. Related xr»»72: if a majority of its leaves dry up and only 3 moist ones remain — w3
i. a70n "7 must be on top of each one
V. Analyzing the next clause — yw&1 nop (if the top of the oTn is cut off — invalid)
a.  N1rn a2 k5w if it was cut off and a bud grew there — it is valid
i.  Question (77p7 77): if the top was cut off on v"y and the bud grew on v — is it valid?
1. Inotherwords: is there a notion of »n7 (rejection) in re objects of mxn?
ii. Challenge: why not answer from 9™’s inference from janv *9’s comment on BTn 1V — "NT PR
iii. Answer: perhaps 9”1 was in doubt and ruled X1mn% (and wouldn’t apply 82175, as here) yp’n
b.  Suggestion: perhaps this issue (nmxn Y¥R 1N7) is a dispute among XRIN:
i. If: he took the (majority) buds off on V" — it is invalid; ¥"ax7 validates
1. Assumption: they agree that Tar 77% 2919 we infer 2595 from nao
2. Dispute: whether we hold that there is nnxn ¥R nn7
a. Rejection: all agree "n7 pR; dispute is whether we infer n21on 1%1%) OR
b.  Perhaps: dispute whether 2915 require Tar — parallel to nnan/nmin "
1. opom a%5 does not require TR
a.  They agree: that it is ideal as mxn M1 (v. 5)
2. A T anY requires TR (vv. 1,4)
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VI. Analysis of next clause - if there were more buds than leaves, invalid
a.  ~7on “1(versionl): citing 27 — only if bunched in one place; if in 2 or 3 — valid
i. Challenge (¥37): if bunched in 2 or 3 places, considered “spotted” and invalid
b.  »7D7 77 (version2): citing 11 — only if the buds are black; if green, they are of at type with the v1n — valid
c.  Note (97): red buds are like black (invalid)
i. Per: Rvan’7’s ruling (re 07) — black blood was red and soured
VII. Analysis of subsuent ruling — if he removed the buds (so that they are no longer a majority) — w3
a.  Question: when did he remove them?
i. If: before he bound the vTh with the 255 — should be obvious that it is valid
ii. Rather: it must be after TR — but it was rejected ab initio
1. Inference: "1 ab initio isn’t "nT (must be “accepted” first)
2. Rejection: it was after TaR — but Rin holds that TR is just “designation” — not yet xp’yn
VIILFinal clause — may not take buds off on v"»
a. Implication: if he did remove them - it is valid
b.  Clarification: when did they go black?
i. If: before v"v — it was rejected ab initio —
1. Inference: RIpyn "NT isn’t N7
ii. Rather: it was blackened on v
1. Ifso: it was nnTn R (fit and then unfit)
2. Inference: "N NRM can become fit again (Mx71 I1N)
iii. Rethink: it was blackened before v"
1. And: we may infer about X1p>»n N7 (N7 M RY)
2. But: we may not infer about nX1) 1N AN IR
c.  &n»7x we may not take them off on v"1; v”ary permits
i. Challenge: he is Rin 1pnn (making v7n fit for use)
ii. Answer (»wn "): if he was picking them off to eat (not to make o7 fit)
1.  And: w"ar1 holds like his father (v"1) — ammn PPN PRY 927
2. Challenge: Xam »aR agreed that w™ allows that w1 p>oa is forbidden
3. Defense: in this case, he has another v1n >has no benefit from the oTn
d. nmp77x if the TR comes loose on V", he may tie it like a bundle of vegetables
i. Question: why not make a bow?
ii. Answer: it is per "'’ "3, who holds (8:y0 naw) that a bow is a proper wp
1. Challenge: if it is N1’ ", he requires a proper TR
2. Answer: this Rin accepts N '7’s ruling about a bow, but not about TR

www.dafyomivicc.org [fo] © Yitzchak Etshalom 2014




